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@20.088 +64.8 @ 20.088 + 6.48 ® 20088 + 648

@ 2008.8 + 6.48 ® 2.0088 + 0.648
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3 20088 + 648
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® 2754 +8.5 ® 27.54+0.85 ® 2.754+8.5

@)o.2754+ 85 ® 2754 +0.85
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@ 5.3m?

® 900000 cm® = 0.9 m?
@12x12x1.2=1.728m?>
®1x05x2=1m?




]

i

m

ol Qo

<+ 3._.

™o gle

o}J

m._x ©

o T

T B

ol 2 o

T - L NG

= 1_44_1 o o

M .. 9_.3 w_m <
— | — IDl @

H D @ K i

> I

.. To _7

N ™ ©

i Nox 2

00 X0 o|l <

Bl —~

B o |2 N N Q@

o [ — |, E_E N_ﬂ <t

o o] . Y N

| ,M_ - e &

om 1

TH ©@ -




Az
XK

el

Tt AFAS0] H|RE TAA 7:8 0] o= A
@7:808:7T@®7:8®8:7

4y
8:7

7 7
ot
®8:




11.

7t QARG Bas sy [ ] gt 9

I2A L,

& [Tom

Mo

2~
e

il

@ : 6x6x5=180(cm?)
@2l Br—ge] 1)

[ ]x3%x6=180cm?

[ ]=180+18

[ ]=10(cm)
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2.7L = 2700 mL = 2700 cm?

(7F F2] B9] £o])= 2700 + (25 x 12) = 9(cm)

(U &9 9] Eo])= 2700 + (15 x 18) = 10( cm)

A 59 9] =017 10-9 = 1(cm) B =54
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@1488 cm? ® 1728 cm®

(18 x12) x 8- (5% 6) x 8
= 1728 — 240
= 1488( cm?)
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@ 216 cm? @)228 em? ® 256 cm®

@ 278 cm? ® 282cm?
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@b l /30m
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=(12-5)x4x (3+ 3) = 168(cm?)
(@9] 3m)

=5x4x3=060(cm?)

(AAED] 2= @ + O

= 168 + 60 = 228( cm?)
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= 60 x 80 x 30 = 144000( cm?)
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@ 3878 @367 @34 @ 3270 @30711
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(7}) 10 x 6 x 4 = 240( cm?)
(L) 2x2x2=8(cm?)
240 + 8 = 30

w2k 30 7H
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8cm \
// lllcm
~8cm-~ /I
<h (%)
@ 240 cm? @ 300cm? @ 360 cm?
@ 420 cm? ($)480 cm?
(flollA] & mef)=(Eylol)
(21 & 2p)=(2%)
(BYlo)= (8x8)x2+ (8x4)x11
= 128 + 352
= 480( cm?)
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) (8)
(@)3840m? @ 270 cm? ® 289 cm?
@ 256 cm? ® 186 cm?
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(SlolA 2 2F)=(EHel)
(1A £ mg)=(2%)
(B4lol) =(6x6)x2+ (6+6+6+6)x13
=172+ 312
= 384(cm?)
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® (2x4)x6
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@ 4x4x6
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